1 2 3 L 5 6 7 8 9 10 11 12
NOTES :
(SEE NOTE 9) (SEE NOTES 4 & 10) (SEE NOTES 4 & 10) 1. THE FOLLOWING INFORMATION IS OBTAINED FROM THE PROJECT DESIGN DRAWINGS :
@ a. POLE LENGTH AND STRENGTH,
@@m@ b. SPECIAL FOUNDATION REQUIREMENTS.
= c. POLE EMBEDMENT DEPTH.
& S 4 PHASE CONDUCTOR SIZE % [STEP - POLE, SCREWIN (SEE NOTE 22) 250144 | 185198 AR AR
- o, STAY REQUIREMENTS. 89 |LUG- COMPRESSION, TINNED COPPER (M2 HOLE) (TO ST 10mm Cu CABLE) 1
e 4 ¢ DEVIATION ANGLE. 88 |HEATSHRINK - MEDIUM AND THICK WALL, MASTIC LINED (SEE NOTE 26) AR
V/ / 0. ASSESSED EARTHING REQUIREMENTS. §7  |SCREW- SET, M12x25mm, HEX., STAINLESS STEEL 515467 | 44693 2
2. THE MAXIMUM LINE DEVIATION ANGLE TO BE CONSTRUCTED ON THIS ARRANGEMENT IS TO BE DETERMINED BY THE LINE DESIGNER. 8 _JARRESTER - SURGE, LV, 500V, SkA H31893 f
(16) 3. STAYS TO BE INSTALLED SO THAT THE STAY WIRE CLEARANCE FROM THE PHASE CONDUCTORS COMPLIES WITH THE STATUTORY REQUIREMENTS. 8  |SADDLE - 40mm, DOUBLE SIDED, GALVANISED HA2%0 2
4. THE LOAD AND DEVIATION ALLOWABLE ON THE EYEBOLT IS TO BE DETERMINED FROM DRG: 520324. 84 |CONDUIT- 40mm, FLEXBLE, PVC Hes19 AR
(SEE NOTE 5) S 5. LONGROD INSULATORS TO BE USED TO TERMINATE CONDUCTORS UNDER NORMAL CONDITIONS. 8 |COVER-LVBUSHING H22032 4
S 6. POLES SHALL BE DRILLED AND DRESSED ON SITE. DRILLING TO BE TREATED WITH APPROVED PRESERVATIVES. 82 |LUG- COMPRESSION, LONG BARREL (M12 HOLE) (TO SUIT 95m Cu CABLE) 151050 3
(9 X10Y11(12) 7. USE THE ANGLE TYPE CONDUCTOR TIE ARRANGEMENT AS SHOWN ON DRG: 514038 81 |CABLE - 37/1.78(95mm’) COPPER, 1C, 0.611kV, PVC INSULATED, BLACK 50684 AR
8. ALL BOLTS AND EYEBOLTS PASSING THROUGH TIMBER ARE TO BE COATED WITH GRAPHITE GREASE. 80 |FUSE - LINK, LV (SEE NOTE 21) 1
@ a e @ 9. BI-METALLIC CLAMP TO BE INSTALLED WITH COPPER CONDUCTOR BELOW ALUMINIUM CONDUCTOR SO THAT COPPER SALTS DO NOT WASH ONTO 79 |FUSEBASE & CARRIER - LV, 630A, SINGLE CIRCUIT (SEE NOTE 27) 17| 92 1
HV DROPOUT FUSE ARM ALUMINIUM CONDUCTOR. 78 |CROSSARM - 2700x 50x100mm, ITEM B, HARDWOOD 566345 | 176221 1
@ (MAXIMUM 10100mm 10. EYEBOLTS ARE TO BE INSTALLED IN THE DIRECTION OF THE OVERHEAD CONDUCTORS. 77 |BOLT & NUT- M16x130mm, HEX, GALVANISED 515466 | 46979 2
FROM GROUND) /§5 11. THE INSULATED HIGH VOLTAGE DROPPER CABLES ARE TO BE TREATED AS BARE CONDUCTORS WITH THE MINIMUM SAFE WORKING DISTANCE 76 |BRACKET- MOUNTING, LV FLAT SHACKLE, GALVANISED 514379 H17762 4
SPECIFIED IN THE ELECTRICAL SAFETY RULES BEING MAINTAINED WHILE WORKING ON ENERGISED MAINS. 75 |INSULATOR - SHACKLE, REEL, TYPE SH.LV2 514407 75812 2
@ 12. ALL SIGNAGE TO BE CONNECTED TO THE POLE IS TO BE BENT AROUND THE POLE BEFORE SECURING. 74 |DEADEND - PREFORMED (10 SUIT CONDUCTOR) 512098 )
13. REFER TO NS158 FOR REQUIREMENTS REGARDING DISTRIBUTOR LABELLING AND SUBSTATION NUMBER PLATE. 73 [SIGN - DANGER, EARTHING SYSTEN (35 APPROVED BY NETWORK EARTHING) (SEE NOTE 12 0 1 1
(SEE NOTE 21) 14. ENSURE ALL GROUND CLEARANCES DETAILED IN NS220 ARE MAINTAINED. 72 510N -DANGER, HIGH VOLTAGE (SEE NOTE 12 o > >
= T O L U oo s T e e L
“SEE DETAIL C 17. SECURE THE TRANSFORMER TO THE TRANSFORMER MOUNTING BRACKET USING M12 BOLTS THROUGH THE HANGING STRAPS 10_|CODUCTOR . 192 1470mm’) COPPER FARD DRAVIN  SEE NOTE 19 7o AR AR
18, THE HIGH VOLTAGE EARTH CONSISTS OF TWO 70mm PVC INSULATED COPPER EARTH LEADS THAT RUN FROM THE TRANSFORMER DOWN OPPOSITE % _[CONNECTOR - CONPRESSION, PROFILE G, COPPER (7m0 Tom” CONDUCTOR) etz AR AR
' mm 68 |CONNECTOR - COMPRESSION, PROFILE 6, COPPER (70mm? CONDUCTOR TO @15mm ROD) H31699 AR AR
S SIDES OF THE POLE TO SEPARATE EARTH ELECTRODES WHICH MUST ALSO BE ON OPPOSITE SIDES OF THE POLE. BOTH OF THE LEADS ORIGINATE 7 |COUPLER EARTH ELECTRODE (10 SUT 66 o0 o o -
= FROM THE EARTH RETURN (ER) BUSHING AND AN EARTH STRAP TO THE EARTH STUD. T LECTRO0E DRVEN AT DG g = =
SEE DETAIL E 19. JOIN THE BARE EARTH CONDUCTORS TO THE INSULATED EARTH CONDUCTORS AS CLOSE AS POSSIBLE TO THE FIRST ELECTRODES. i Sdialiendll 2
(SEE NOTE 11) 20. USE THE 130mm BOLT SUPPLIED WITH THE HV DROPOUT FUSE TO ATTACH AN EARTH STIRRUP TO THE DROPOUT FUSE. 6 [LUG- COMPRESSION, COPPER, 12mm HOLE (TO SUIT 70mm* CABLE) 83 10 i
21. REFER TO NS122 SECTION 10.3 FOR LV FUSE & HV DROPOUT FUSE LINK SPECIFICATION OPTIONS. 64 |SADDLE - 34", DOUBLE SIDED, GALVANISED (SUIT 20mm WATER PIPE) PURCHASE 8 12
22. POLE STEPS ARE TO BE INSTALLED IN ACCORDANCE WITH THE REQUIREMENTS OF NS128. 63 |PPE- 20mm, WATER, GALVANISED, 4000mm LONG PURCHASE 2 3
23. IF REQUIRED, AN ALTERNATE 12.7kV SWER OVERHEAD CONSTRUCTION MAY BE USED. REFER TO SWER OVERHEAD STANDARD CONSTRUCTIONS 62 |SCREW - #12xé5mm, SELF DRILLING 175567 AR AR
L /@ FOR SUITABLE OPTIONS. 61 [SADDLE - 12mm, DOUBLE SIDED, GALVANISED (SEE NOTE 25) 176494 AR AR
> 24. ENSURE BURIED EARTH CONDUCTORS ARE CENTRED UNDER CABLE PROTECTION COVER. 60 |CONDUCTOR - 19/2.14(70mnr?) COPPER, PVC COVERED, BLACK ( SEE NOTE 18) 185230 AR AR
(9 10X11(12) SEE DETAILD 25, THE EARTH CONDUCTORS ATTACHED TO THE POLE ARE TO BE FIXED WITH SADDLES AT INTERVALS NOT GREATER THAN 450mm. o |CLAVP - PARALLEL GROOVE, BHMETALL (10 SUT ALOMINIUM OR GALVANISED STEEL CONDUCTOR) (SEE NOTE 9 1 )
- — - - st 26. PROVIDE WATER BLOCKING USING MEDIUM WALLED MASTIC LINED BLACK HEATSHRINK OVER BARE LUG BARREL AND CABLE INSULATION. CLAMP - PARALLEL GROOVE (TO SUIT COPPER CONDUCTOR) 514099
, @ 27. LV FUSEBASE IS TO BE ANGLED 15° TOWARDS THE CENTRE OF THE POLE. 58 |TIE - CONDUCTOR, HIGH VOLTAGE, SUPPORT ARRANGEMENT (SEE NOTE 7) 514038 m m
N 28. REFER TO DESIGNER SAFETY REPORT D21/234222 FOR ATYPICAL HAZARDS ASSOCIATED WITH THIS STANDARD CONSTRUCTION. 57 |INSULATOR - 11/22kV, AERODYNAMIC, (22/450) & PIN ARRANGEMENT 513997 1 1
\@ 5 |BOLT & NUT- M12, HEX, GALVANISED (LENGTH TO SUIT POLE) 515466 1 1
@ (SEE NOTE 15) S 55 |COVER- FBREGLASS (FOR TRANSFORVER MOUNTING BRACKET) 566374 | 176961 1 1
o
(SEE NOTES 16 & 17) ‘% LOCK NUT 54 |CONDUIT - 25mm, FLEXIBLE, PVC (SEE NOTE 15) H8919 AR AR
u/@ & [EOLT-. fémm, ROUND (@35émm) 514400 | H36924 ) )
@ /@ \_ BOLT-'U', 16mm, ROUND (2330mm) 514400 | H36916
(SEE NOTE 18) b 52 |BRACKET- TRANSFORVER MOUNTING 566101 | 176962 1 1
7 - $SSFTOLROMOEA§EH OVE 51 |TRANSFORMER - SWER, ISOLATING, 100KVA, 11kV/12.7kV, STRAP HUNG (SEE NOTES 16 & 17) 24388 | H121251 1 1
@ _ = EARTH CONDUCTOR 1 50 |ARRESTER - SURGE, 12.7kV, 10KA, POLYMERIC H31877 1 1
L
@ ZEE gz w § o @@e SEE NOTE 20 ER;\'/ 'XSHNEURT gﬁ%ﬁg?ﬁb%\mfﬁ 1 8| 8 49 [ARRESTER- SURGE, 11kV, 10kA, POLYMERIC 111948 2 2
S| TOZTIE / 48 |NUT-M12, HEX, STANLESS STEEL 515467 | 8987 1 3
sl Jezcoi (6 COPPER CONDUCTOR HEX,
(SEE NOTE 27) — 5| Fbwsgz (90) . (SEE NOTE 25) EARTH CONDUCTOR 47 |WASHER - SPRING, M12, STAINLESS STEEL 510082 | 143859 1 3
<> 2°=z8° (SEE NOTE 22) : (0) EARTH TO BE CONTINUOUS 4 |WASHER- FLAT, M12, STANLESS STEEL 518081 | 40429 2 6
SEE NOTE 21 2 | " STIRRUP — 45 [SCREW- SET, M12x40mm, HEX., STAINLESS STEEL 515467 | 45146 1 1
( ) ' (SEE NOTE 18) LOCATED 2.7m
- ! ABOVE GROUND 44 |LUG- 35mme, TINNED COPPER, HEAVY DUTY (M12 HOLE) (UTILUX CG35SDM12) (TO SUIT 11KV COPPER LDPE CABLE) PURCHASE 1 1
| @@ LEVEL 43 |COVER - BUSHING, HV H21858 3 3
! (SEE NOTE 12) 42  |TIE - CABLE, 380x7.6mm, BLACK 59907 6 6
| 4 |LUG- 16mme, TINNED COPPER (12 HOLE) (TO SUIT 11kV COPPER LDPE CABLE) H110270 6 6
(SEE NOTE 25) r i SEE DETAIL B DETAIL A DETAIL B - EARTH TEST LOOP 40 [CABLE - 11kV, 16mm? (7/1.70), COPPER, LDPE INSULATED (SEE NOTE 11) 6205 AR AR
i SCALE 1:5 NOT TO SCALE 39 |KIT- TERVINATION, HEATSHRINK (FOR HV DROPPER LUGS) 152207 1 1
i 38 |KIT- LUG, HEAVY DUTY (TO SUIT 35mm? 11KV COPPER LDPE CABLE) (1@ Tx SET) H125252 1 1
r . (SEE NOTE 11) (SEE NOTE 26) 37 |CABLE - 11KV, 35mm# (19/153), COPPER, LDPE INSULATED (SEE NOTE 11) H14578 AR AR
! LV BUSHING COVERS 36 LUG - COMPRESSION, BFMETALLIC (M10 HOLE) (TO SUIT ALUMINIUM OVERHEAD CONDUCTOR) 514053 ) )
a REMOVED FOR CLARITY LUG - COMPRESSION, TINNED COPPER (M10 HOLE) (TO SUIT COPPER OVERHEAD CONDUCTOR) 514053
% S 35 |NUT- M0, HEX, STANLESS STEEL 515467 | Hasdot 4 4
_ % (SEE NOTE 12) 34 |WASHER - SPRING, M10, STAINLESS STEEL 513082 | 50120 4 4
S|= 33 |WASHER - FLAT, M10, STANLESS STEEL 518081 | 49411 8 8
S|2 S 2 [BOLT- M10xdomm, HEX, STANLESS STEEL 515467 | 4506 4 4
1S 2 31 |CLAVP -LV, SUSPENSION HI13472 2 2
'—
S L 30 |NUT-M16, NYLOC, HEX., STAINLESS STEEL 17712 2 2
N8 (SEE NOTE 11) 29 |WASHER - FLAT, M16, STAINLESS STEEL 518081 | H39621 4 4
a _ . HEATSHRINK 28 |SCREW-SET, M16x40mm, HEX, STAINLESS STEEL 515467 | H38413 2 2
3 ! 27 |INSULATOR - 11/22kV, LONGROD, 70KN (CLEVISITONGUE) 150375 2 2
& ! HEATSHRINK 2 |PLATE - TWISTED, 170x506mm, GALVANISED 151086 | 176901 2 2
| 25 |WASHER - CONICAL M16, GALVANISED 518082 | H39647 2 4
S ! DETAIL C DETAILD 24 |WASHER - FLAT, M16, GALVANISED 518081 | 177984 2 4
® [ SCALE 1:5 SCALE 1:10 DETAIL E 23 |BOLT & NUT - M16x150mm, HEX., GALVANISED 515466 175672 2 4
—@ i LUEIALE 2 |FUSE - LINK, NGK STANGER (SEE NOTE 21) 2 2
i SCALE 1:5 21 |FUSEBASE - 12kV, DROPOUT, NGK POLYMER ASSEMBLY He4350 2 2
_ i 6000 MIN ~, 3000 MIN . 2 = 20 [BOLT & NUT- M12¢130mm, HEX,, GALVANISED 515466 | 46805 7 7
| | = N = 19 |BRACE - CROSSARW, ANGLE, 740mm, GALVANISED 1 99119 1 1
! /f\gDBlEll(r)\ll\éArl/lEbg 'I"F'NG o)X = 18 |CROSSARM - 2400x100x100mm, ITEM A, HARDWOOD 566345 | 176222 1 1
| (SEE NOTE 19) | | ={ES
! REQUIRED TO MEET | 2450 el 1= @ @ 17 |EYEBOLT- M20, GALVANISED (LENGTH TO SUIT POLE) (SEE NOTES 4 & 10) 513653 1 1
. | ADDITIONAL @ @ | | HV EARTH RESISTANCE EARTH STUD 16 [INSULATOR - 11/22kV LONGROD, STRING ARRANGEMENT AR-2 (SEE NOTE 5 565715 3 3
(BON_ cABLE COVER (SEENOTE24)  EARTHING CABLE COVER - (SEENOTE24)  SpeCiFiED IN EARTHING HV SURCE : ( )
| (IF REQUIRED) ! ! | DESIGN C\ LVEARTH] ! o EARTH o) ARRESTERS | 15 [BLOCK - GAIN, ALUMINIUM, 100mm 146274 2 3
\ =] EEE%ATF%"DE - SR | \L‘“—“H TO EARTH HVEARTH L V1 ly2  STRAP A SW A8 J 14 |WASHER - LP, M24, GALVANISED 518081 | 176912 2 2
/ | ELECTRODE EE2 | | | ELECTRODE EE3 SYSTEM 60 TANK EARTH 13 |EYEBOLT - M20x200mm, GALVANISED (SEE NOTES 4 & 10) 513653 | H3788 2 2
. DUPLICATE ER al a3 a4 a2
@ | | | | L] (SEE NOTE 18) e g LV TEST LOOP 12 |WASHER - FLAT, M20, GALVANISED 518081 | 177986 6 7
| 300 | i | 3 LOOPS I== \_ﬂ_l 11 [WASHER - CONICAL, M20, GALVANISED 518082 | H39655 6 7
3000 MIN 6000 MI 2450 : i | 2450 (SEE NOTE 19) N LV SURGE LV EARTH 10 |WASHER - SQUARE, 75x75x6mm, GALVANISED ((@22mm HOLE) 518081 | H39231 10 12
| | 1 - 1 REFER TO EARTH HV EARTH ARRESTER 9 [BOLT& NUT- M20, HEX., GALVANISED (LENGTH TO SUIT POLE) 515466 3 4
| ‘ I =] | LAYOUT FOR EARTH REFER TO SITE SPECIFIC EARTHING DESIGN NEUTRAL B |WASHER - CONICAL, N2, GALVANSED 58082 | oo 6 )
ﬁl + | + + | K\I<> | %ONFIGURATION DETAILS ~ FORPRECISE HV & LV EARTHING REQUIREMENTS _ ACTIVE LV FEEDER 7 |WASHER - FLAT M2 GALVANISED sl | 77982 7 o
| | ! | EARTH LAYOUT EE2 SUBSTATION SCHEMATIC 6 [BOLT & NUT- M12x180mm, HEX, GALVANISED 51566 | 46888 2 4
| | ! | NOT TO SCALE U 5  [CROSSARM - 2700x150x100mm, TYPE C, HARDWOOD 514373 | H23907 1 1
@ I | | | | I @ 4 [SCREW - COACH, M12x100mm, GALVANISED HAO484 2 3
| | i | AN EARTHING DESIGN MUST BE UNDERTAKEN FOR EACH SITE. 3 |BRACE - CROSSARM, FLAT, 690mm, GALVANISED 514385 | H17738 2 4
+ | | | THE MAXIMUM HIGH VOLTAGE EARTH RESISTANCE OF A 100kVA SWER ISOLATING 2 [FOOTING - TWBER POLE, ARRANGENENT (SEE NOTE ) 0726 1 1
+ I—@ + | + SUBSTATION IS TO BE 3Q UNDER WORST CONDITIONS. 1 |POLE - TMBER (MINIMUM 8kN) (POLE LENGTH AS REQUIRED) 513988 1 1
“ l SEE NOTE 1 “ | : | “ NOLV | WITHLV
LV2 ( ) THE EARTHING SHOWN ON THIS DRAWING IS INDICATIVE ONLY. STOCK
LV1 | EE3 EEA | | EE2 ITEM DESCRIPTION DRG. N CONNECTION]|CONNECTION
B L ADDITIONAL EARTHING MAY BE REQUIRED TO MEET THE REQUIRED EARTH RESISTANCE. Nof e
———————————— QUANTITY
A g . NETWORK STANDARD SE::_GENED 1:20 UNLESS S:UNWN OTHERWISE STANDARD CONSTRUC TION
a b‘, E A <Zt 05_LIJ o .
R EE = o5 N, Aus ricy [ k.S, SINGLE POLE 12.7kV SWER
S:-|zlER B |5| |g|S8ss CHeceD L ISOLATING SUBSTATION
sil= S|2|S 22 2|y |5(2200 =) APPROVED A.DONALDSON
2 &[22 = 20| = o
oz i EE g =3 HEACIREEE R pr 145 NEWCASTLE RD WALLSEND DATE 57107196 GENERAL ARRANGEMENT
— N - —~ Z=~ .
SElullelw B2 B8 |wdEks Y HV CONDUCTOR TIE SUPPORT ARRANGEMENTS 514038 | NSw 2287 PROJECT STD
o |- Z 1 ) = o)
8l=|Z|Z |z 38 g =5 |sugss o 20mm EYEBOLT LOADING & DEVIATION GRAPH 520324 oI RAR T T oy
<
- g = g ASSOCIATED DRAWINGS NUMBER - Al >02801 1 >
20110901 1 2 3 IR 5 6 7 8 9 10 1 12




